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 controls reduce unemployment. However, they did not present explicit findings on how 

changes in wage rigidity affect welfare. 
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https://www.ecb.europa.eu/mopo/intro/html/index.en.html
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∈
∑ 𝛽𝑡𝐸0[𝑈 (𝐶𝑡, { 𝑁𝑡(𝑗)}; 𝑍𝑡)],∞𝑡=0 𝛽 = 11+ 𝛿  𝜖 (0,1) δ

𝜖𝑝𝜗 ∈ [0,1]𝜑 𝑛 > 0
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𝑡 + 1𝑡 𝑄𝑡, 𝑡 + 1 E𝑡(Q𝑡,𝑡+1) =(1 + r𝑡)−1, r𝑡 P𝐻,𝑡 (𝑖)𝑖, P𝐹,𝑡 W𝑡  (𝑗)𝑗 𝑇𝑅𝑡 𝑃𝑅𝑡

𝑃𝐹,𝑡

𝜀𝑡
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(1 +  𝑟𝑡)−1 =  E𝑡(Q𝑡,𝑡+1)

𝑡
1 −  𝜃𝜔 𝜃𝜔 ∈ [0,1]

𝜃𝜔
 

 𝑖 ∈ [0,1]

𝑌𝑡(𝑖)𝑁𝑡(𝑖, 𝑗) 𝑗 𝐴𝑡
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𝐴𝑅(1)

1 − 𝜃𝑝 𝜃𝑝  ∈ [0,1]
𝜃𝑝

𝑀𝐶𝑡 𝜏𝑡 𝑁𝑡(𝑖)𝑊𝑡 𝑗
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ϕϕ = 0
𝜏 ≥ 0

ϕ > 0. 

𝜏 < 0 ϕ = 0
𝜏

ϕ = 0 ϕ > 0
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 𝑖
𝑋𝑡

𝑆 = 1 𝐶 = 𝐶∗ = 𝑌∗
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𝜋𝐻,𝑡
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𝜋𝐻,𝑡 𝜔𝑡
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𝛺1, 𝛺2, 𝛺3 𝛺5
 

𝑡 𝜋𝐻,𝑡 = 0𝑡

𝑡
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𝜂

 

 

 

η ∈
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𝑟𝐻,𝑡 = 𝑟𝑡 −  E𝑡(𝜋𝐻,𝑡+ 1) lim𝑘→∞ E𝑡(𝑐𝑡+𝑘) = 0lim𝑘→∞ E𝑡(𝑠𝑡+𝑘) = 0
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𝜃𝜔

𝜃𝜔 = 0.8

𝜃𝜔
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Λ𝜔

𝜃𝜔 = 0.8
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 𝑇𝑅𝑡
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𝑡 𝑡 + 1

AR(1)
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ψ

𝜓0

𝜓0  ≃ −0.989%

 
12 To be exact 𝜓0 =  −0,989138307540085%. 
13 Eq. (25) can be written as 𝑝𝑡 = (1 − 𝜐) 𝑝𝐻+𝑡 +  𝜐𝑝𝐹,𝑡. 
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𝜎𝐶
𝜎𝐶 = 0.523
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10.1722

𝜃𝜔
𝜃𝜔
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𝜃𝜔 = 

𝜃𝜔 = 0.8

 

τ
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𝜃𝜔 = ∈ {0.625, 0.8, 0.975}

𝜃𝜔 = 0.625, 0.8 0.975𝜏 = 0.3𝜃𝜔 = 0.975
 𝜎ℬ
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𝜃𝜔 = 0.975

𝜏 = 0.3
𝜏 = 0.3

 

𝜙𝑏

φ

φ𝜙𝑏 = 6.5𝜙𝑏 = 4.5 8.5
 𝜙𝐵
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𝜙𝑏6.5 𝜙𝑏 = 4.5 8.5 𝜙𝑏
𝜙𝑏 𝜙𝑏

𝜙𝑏

lim𝑘→ ∞E𝑡(𝑐𝑡+𝑘) = 0lim𝑘→ ∞E𝑡(𝑏𝑡+𝑘) = 0
𝜙𝑏

𝜙𝑏 𝜙𝑏
φ𝜙𝑏 𝜙𝑏

𝜙𝑏 = 4.5, 6.5 8.5 −0.0105, −0.0084 −0.0064𝜙𝑏 𝜙𝑏
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𝜙𝑏

𝜙𝑏

𝜙𝑏 ∈ {4.5, 6.5, 8.5}
𝜙𝑏 = 4.5, 6.5 8.5𝜙𝑏 𝜙𝑏
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𝛽𝑘
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𝛽−1

𝑘 =  0
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https://www.ecb.europa.eu/press/key/date/2018/html/ecb.sp181215.en.html
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𝜑
𝜂

𝜖𝜔
𝜖𝑝
𝜃𝑝
𝜃𝜔
𝜐𝛽𝜌𝑎𝜌𝑧𝜌1∗𝜌2∗𝜏𝜎𝐵

𝜎𝐺
𝜙𝑏
𝜌𝑔
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